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ke \e Z � ] d ]� \ ]_ B9 A d j ]�« @ > < ; D B @ 74 @ B : ; >9 8 G ;6 8 G B W 4 N 4 49 6 7 >6 >8 4 Av

➤

� G 49 C8 ;9 < B D B9 >9 ; D B @ A ;8 : 7 ; N C : ; >9 ; : ;8 > H :49 49 > C < G : >8 C6 6 @ J

D4 7 : B ;9 6 B 7 B E 4 : 4 78 7 B : G 4 7 : G B9 B D >E 6 @ 4 :4 rU Fv

➤

F G 4 74 B 74 B @8 > D B9 >9 ; D B @ D >9 : ;9 C > C8 A ;8 : 7 ; N C : ; >9 8 8 C D G B8 �,a� � � ]a d

k ]� \Z ]� � \ ]j d � B9 A l Z j � ] \ � bj f ] \ k ]� \Z ]� � \ ]j d �v

�

©

� 	 	� yz � 
{ � � � 
� � � 
| } � 
 � ~ � � 
� � �� � � � �� �� �� 
 �� � � � � �

AB
��� � ��� �� 	 
 �� 
 �� � � 	 	� � 
 � �� � �� � � � �� �� � � �� �� � � �'

&

$

%

� �   � £ � �� � �   � 	 ( ¢ � ��

➤

�9 : G 4 A 4 : 4 7E ;9 ;8 : ; D D B8 4 � : G 4 74 ;8 9 > C9 D 4 7 : B ;9 :J B9 A : G 4 W B @ C 4 > H

X

;8 > N : B ;9 4 A B8 B ¬ @ > < ; D B @ ¯ H C9 D : ; >9 H 7 > E : G >8 4 > H Parents(X)v

➤

­ 4 : 4 7E ;9 ;8 : ; D9 > A 48 D B9 B @8 > 49 D > A 4 > : G 4 7 � O 4 A9 C E 4 7 ; D B @

H C9 D : ; >9 8 A 46 49 A ;9 < >9 : G 4 W B 7 ; B N @ 48 ;9 W > @ W 4 Av

³5´ �µ ¶ . 2© ­ 4 �9 4

NorthAmerican ↔ Canadian ∨US ∨MexicanvF G ;8 D > 7 748 6 >9 A8 : >8 6 4 D ; HJ ;9 < B rU F B8 H > @ @ >? 8 X

Canadian US Mexican NorthAmerican� � �

0.0F � �

1.0v�v�v v�v�v v�v�v v�v�v

�

©

� 	 	� yz � 
{ � � � 
� � � 
| } � 
 � ~ � � 
� � �� � � � �� �� �� 
 �� � � � � �



AB

��� � ��� �� 	 
 �� 
 �� � � 	 	� � 
 � �� � �� � � � �� �� � � �� �� � � �'

&

$

%

( ¢ � � � # ¢ � � 	 � � � � � �   � ¢� � � � � �

➤

V > ;8 J @ > < ; D B @ 74 @ B : ; >9 8 G ;6 8 B A A8 > E 4 C9 D 4 7 : B ;9 :J : > : G 4 8 D 49 B 7 ; >v

➤

Q 0 �/ �� *� 74 @ B : ; >9 8 G ;6 D > E 6 7 ;8 48 : G 4 H > @ @ >? ;9 <6 7 ;9 D ;6 @ 48 X

sv L B D G D B C8 4 G B8 B9 ;9 A 46 49 A 49 : D G B9 D4 > H D B C8 ;9 < : G 4 4 »4 D :v

°v Q @ @6 >8 8 ; N @ 4 D B C8 48 B 74 @ ;8 :4 Av

±v � G B :4 W 4 7 ;9 G ; N ; :8 8 > E 4 D B C8 4 H 7 > E D B C8 ;9 < B9 4 »4 D : ;8

;9 A 46 49 A 49 : > H ? G B : 4 W 4 7 ;9 G ; N ; :8 > : G 4 7 D B C8 48 H 7 > E D B C8 ;9 < : G 4

4 »4 D :v �9 G ; N ; : > 78 B 74 8 C E E B 7 ;�� 4 A B8 0 �/ � 2 ¶� � �µ 2 - 2 � �v

➤

Q 9 > ;8 J R 3 74 @ B : ; >9 8 G ;6 ;9 ? G ; D G B W B 7 ; B N @ 4 A 46 49 A8 >9 k6 B 749 :8

D B9 N 4 A 48 D 7 ; N 4 A C8 ;9 < k6 B 7 B E 4 :4 78 v

�9 D >9 : 7 B8 : : > : G ;8 � 2k 49 : 7 ; 48 B 74 9 4 4 A 4 A ; H B H C @ @ rU F ;8 8 6 4 D ; � 4 Av

�

©

� 	 	� yz � 
{ � � � 
� � � 
| } � 
 � ~ � � 
� � �� � � � �� �� �� 
 �� � � � � �

AB

��� � ��� �� 	 
 �� 
 �� � � 	 	� � 
 � �� � �� � � � �� �� � � �� �� � � �'

&

$

%

³5´ �µ ¶ . 2© � 4 : C8 D >9 8 ; A 4 7 B E 4 A ; D B @ A >E B ;9 ;9 D @ C A ;9 < : G 4 W B 7 ; B N @ 48

Fever

¬ B8 J E 6 : >E ¯ � Cold � Flu � B9 A

Malaria

¬ A ;8 4 B8 48 ¯v �8 ;9 <9 > ;8 4

6 B 7 B E 4 :4 78 P (¬fever | cold ,¬flu,¬malaria) = 0.6�

P (¬fever | ¬cold ,flu,¬malaria) = 0.2� B9 A

P (¬fever | ¬cold ,¬flu,malaria) = 0.1� ? 4 <4 : : G 4 H > @ @ >? ;9 < rU F X

Cold F lu Malaria P (Fever) P (¬Fever)

F F F 0.0 1.0

F F T 0.9 0.1

F T F 0.8 0.2

F T T 0.98 0.02 = 0.2 × 0.1

T F F 0.4 0.6

T F T 0.94 0.06 = 0.6 × 0.1

T T F 0.88 0.12 = 0.6 × 0.2

T T T 0.988 0.012 = 0.6 × 0.2 × 0.1
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SubsidyB9 A : G 74 4 D >9 : ;9 C > C8 7 B9 A >E W B 7 ; B N @ 48

Harvest � Cost � B9 A

Buysv

HarvestSubsidy

Buys

Cost

� > 7 Cost � ? 4 9 4 4 A : >8 6 4 D ; HJ P(Cost | Harvest ,Subsidy)v
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P(Cost | Harvest , subsidy) B9 A

P(Cost | Harvest ,¬subsidy)v
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4 O B D : W B @ C 48 e1, . . . , em
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E1, . . . , Emv
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³5´ �µ ¶ . 2© r >9 8 ; A 4 7 : G 4 º C 4 7J P(B | j ,m)

;9 : G 4 N C 7 < @ B 7J 4 O B E 6 @ 4v

� > 7 : G ;8 º C 4 7J � E

B9 A

A

B 74 G ; A A 49 W B 7 ; B N @ 48 B9 A 49 C E 4 7 B : ; >9 B E > C9 :8

: > D >E 6 C : ;9 < : G 4 H > @ @ >? ;9 < A ;8 : 7 ; N C : ; >9 ¬ ;9 B A 46 : G � 78 : H B8 G ; >9 ¯ X

P(B | j ,m) = αP(B , j ,m)

= α
∑

e

∑
a
P(B , e, a, j ,m)

= α
∑

e

∑
a
P(B)P (e)P(a | B , e)P (j | a)P (m | a)

= αP(B)
∑

e
P (e)

∑
a
P(a | B , e)P (j | a)P (m | a)

= α〈0.00059224, 0.0014919〉

≈ 〈0.284, 0.716〉

F G 4 A 4 : B ; @8 > H D >E 6 C : ;9 < P (b | j ,m) B 74 B9 B @ J � 4 A9 4 O :v
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P(j|a)
.90

P(m|a)
.70 .01

P(m|    a)

.05
P(j|    a) P(j|a)

.90

P(m|a)
.70 .01

P(m|    a)

.05
P(j|    a)

P(b)
.001

P(e)
.002

P(   e)
.998

P(a|b,e)
.95 .06

P(   a|b,   e)
.05
P(   a|b,e)

.94
P(a|b,   e)
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F G 4 ¶ �/10 -� / � 2 ¶� � �,+ � - > H :? > H B D : > 78

f1(X,Y) B9 A

f2(Y,Z)

;8

A 4 �9 4 A NJ (f1 × f2)(X,Y,Z) = f1(X,Y)f2(Y,Z)v
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Q W B 7 ; B N @ 4

X

D B9 N 4 � + µ µ 2 � �+ - H 7 > E B6 7 > A C D : > H H B D : > 78

fi(X,Y)

NJ D > E 6 C : ;9 < ∑
x(f1(x,Y)× . . .× fn(x,Y))v
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¿ C @ : ;6 @ ; D B : ; >9 : B K48 6 @ B D 4 >9 @ J ? G 49 8 C E E ;9 < > C : W B 7 ; B N @ 48 v
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L W 4 7J W B 7 ; B N @ 4 : G B : ;8 9 > : B9 B9 D 48 : > 7 > H B º C 4 7J W B 7 ; B N @ 4 > 7
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P(B | j ,m) = αP(B)
∑

e

P (e)
∑

a

P(a | B , e)P (j | a)P (m | a)

: B K48 6 @ B D4 N > : : >E 	 C6 C8 ;9 < H B D : > 78 B8 H > @ @ >? 8 X

sv fM (A) = 〈P (m | a), P (m | ¬a)〉u

°v fJ (A)

;8 A 4 �9 4 A B9 B @ > < > C8 @ Ju

±v fA(A,B,E)

;8 : G 74 4 	
A ; E 49 8 ; >9 B @u

twv : G 4 W B 7 ; B N @ 4

A

;8 8 C E E 4 A > C : H 7 >E : G 4 6 7 > A C D : > H : G 48 4 : G 74 4 X
fJ ,M (B,E) =

∑

a

(fA(a, B,E)× fJ (a)× fM (a));

¾v E

;8 8 C E E 4 A > C :8 ; E ; @ B 7 @ J B9 A

P(B | j ,m) = α fB(B)× fJ ,M (B)v
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� H B N 4 @ ; 4 H9 4 :? > 7 K H > 7E 8 B6 > @ J : 74 4 � : G 4 6 7 > N B N ; @ ; :J A ;8 : 7 ; N C : ; >9

P(X | e) D B9 N 4 D > E 6 C :4 A W 4 7J 4 M D ; 49 : @ J ¬ ;9 ./10 2� � -/µ 2 ¯v

➤

� > 7µ + . -/ ¶ .� � �0 0 2 � - 2 �9 4 :? > 7 K8 � ;9 ? G ; D G B : @ 4 B8 : :? > W B 7 ; B N @ 48

B 74 D >9 9 4 D :4 A NJ 8 4 W 4 7 B @6 B : G8 � W B 7 ; B N @ 4 4 @ ; E ;9 B : ; >9 D B9 G B W 4

4 O 6 >9 49 : ; B @ : ; E 4 B9 A8 6 B D4 D > E 6 @ 4 O ; :J ;9 : G 4 ? > 78 : D B8 4v

➤

�9 <49 4 7 B @ � 4 O B D : ;9 H4 749 D 4 ;9 I BJ 48 ; B9 9 4 :? > 7 K8 ;8 VU 	
G B 7 A ¬ 4 W 49

�U 	
G B 7 A ¯ B8 ; : ;9 D @ C A 48 6 7 >6 >8 ; : ; >9 B @ ;9 H4 749 D 4 B8 B8 6 4 D ; B @ D B8 4v
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6 > @ J : 74 48 NJ D > E N ;9 ;9 <8 >E 4 9 > A 48 ;9 : > D @ C8 :4 79 > A 48 v

³5´ �µ ¶ . 2© r >9 8 ; A 4 7 D @ C8 :4 7 ;9 < : G 4 9 > A 48

Sprinkler

B9 A

Rain

;9 : G 4

H > @ @ >? ;9 < E C @ : ;6 @ J D >9 9 4 D :4 A9 4 :? > 7 K X

P(C) = .5

C P(R)

T

F

.80

.20

C P(S)

T

F

.10

.50

S R P(W)

T T

T F

F T

F F
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�

©

� 	 	� yz � 
{ � � � 
� � � 
| } � 
 � ~ � � 
� � �� � � � �� �� �� 
 �� � � � � �



AB

��� � ��� �� 	 
 �� 
 �� � � 	 	� � 
 � �� � �� � � � �� �� � � �� �� � � �'

&

$

%

➤

F G 4 H > @ @ >? ;9 <6 > @ J : 74 4 9 4 :? > 7 K ;8 > N : B ;9 4 A X

P(C) = .5

C TT TF FT FF

T

F

.08

.40

.02

.10

.72

.40

.18

.10

P(S+R=x)

S+R P(W)

T T

T F

F T

F F

.90

.90

.00

.99

Cloudy

Spr+Rain

 Wet
Grass
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� ;9 4 B 7 : ; E 4 B @ < > 7 ; : G E 8 D B9 N 4 C8 4 A H > 7 º C 4 7J B9 8 ? 4 7 ;9 <� N C : : G 4

8 ;�� 4 > H : G 4 9 4 :? > 7 K < 7 >? 8 4 O 6 >9 49 : ; B @ @ J ;9 : G 4 ? > 78 : D B8 4v
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FJ 6 ; D B @ @ J � : G 4 74 B 74 8 4 W 4 7 B @ ? BJ 8 : > D > E 6 >8 4 D @ C8 :4 79 > A 48 B9 A ; : ;8
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�

©

� 	 	� yz � 
{ � � � 
� � � 
| } � 
 � ~ � � 
� � �� � � � �� �� �� 
 �� � � � � �

AB

��� � ��� �� 	 
 �� 
 �� � � 	 	� � 
 � �� � �� � � � �� �� � � �� �� � � 	'

&

$

%

! � � � � � " � !% ' " ( � ' � ' ( & ' " (

 !� ' $ " !( ( ' % � � � � $

➤
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? G >8 4 B D D C 7 B DJ A 46 49 A8 >9 : G 4 9 C E N 4 7 > H8 B E 6 @ 48 <49 4 7 B :4 Av

➤

½ 4 74 8 B E 6 @ ;9 < ;8 B6 6 @ ; 4 A : > : G 4 D >E 6 C : B : ; >9 > H6 >8 :4 7 ; > 7

6 7 > N B N ; @ ; : ; 48 < ; W 49 B6 7 ; > 7 A ;8 : 7 ; N C : ; >9 ¬ B I BJ 48 ; B9 9 4 :? > 7 K ¯v

➤

F G 4 74 B 74 8 4 W 4 7 B @8 4 W 4 7 B @ B6 6 7 >O ; E B : ; >9 E 4 : G > A8 ;9 D @ C A ;9 <

�
­ ; 74 D :8 B E 6 @ ;9 <
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➤

�9 A ; 74 D :8 B E 6 @ ;9 <� : G 4 ? > 7 @ A A 48 D 7 ; N 4 A NJ B I BJ 48 ; B9 9 4 :? > 7 K

¬ ? ; : G > C : 4 W ; A 49 D 4 ¯ ;8 8 ; E C @ B :4 A8 : > D G B8 : ; D B @ @ Jv

➤

Q : >E ; D 4 W 49 :8 B 74 7 B9 A > E @ J <49 4 7 B :4 A ;9 : >6 > @ > < ; D B @ > 7 A 4 7 NJ

8 4 @ 4 D : ;9 < A 4 �9 ; :4 W B @ C 48 H > 7 7 B9 A >E W B 7 ; B N @ 48 v
➤

F G 4 W B @ C 4 H > 7 B 7 B9 A > E W B 7 ; B N @ 4

X

;8 D G >8 49 B D D > 7 A ;9 < : > : G 4

D >9 A ; : ; >9 B @6 7 > N B N ; @ ; :J : B N @ 4 B8 8 > D ; B : 4 A ? ; : G
Xv

➤


 � / �� � �µ ¶ ./0 �6 7 > A C D48 : G 4 4 W 49 :
x1, . . . , xn

? ; : G6 7 > N B N ; @ ; :J

SPS(x1, . . . , xn) =
n∏

i=1

P (xi | Parents(Xi)) = P (x1, . . . , xn).
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F G 4 6 >8 :4 7 ; > 7 A ;8 : 7 ; N C : ; >9

P(X | e) = P(X,e)
P(e)

;8 48 : ; E B :4 A NJ

D > C9 : ;9 < : G 4 H 74 º C 49 D ; 48 ? ; : G ? G ; D G 4 W 49 :8 > D D C 7v

➤

F G 4 9 C E N 4 7 > H8 B E 6 @ 48

N

B »4 D :8 B D D C 7 B DJ X

lim
N→∞

NPS(x1, . . . , xn)

N
= SPS(x1, . . . , xn) = P (x1, . . . , xn).

➤

� > < ; D8 B E 6 @ ;9 < ;8 9 > : W 4 7J C8 4 H C @ ; H : G 4 4 W 49 :

e

> D D C 78 W 4 7J 7 B 74 @ Jv

³5´ �µ ¶ . 2© � 4 : C8 6 7 > A C D 4 >9 4 8 B E 6 @ 4 : G 4 @ B ? 9 ? B :4 7 ;9 < A >E B ;9 X

P(Cloudy) = 〈0.5, 0.5〉 =⇒ 74 : C 79 true

P(Sprinkler | cloudy) = 〈0.1, 0.9〉 =⇒ 74 : C 79 false

P(Rain | cloudy) = 〈0.8, 0.2〉 =⇒ 74 : C 79 true

P(WetGrass | ¬sprinkler , rain) = 〈0.9, 0.1〉 =⇒ 74 : C 79 true

³5´ �µ ¶ . 2© Lv <v � P(WetGrass | sprinkler ∧ rain) D >9 W 4 7 <48 8 @ >? @ Jv
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➤

�9 ; :8 8 ; E 6 @ 48 : H > 7E � 74 � 4 D : ; >9 8 B E 6 @ ;9 < D B9 N 4 C8 4 A : > D >9 A ; : ; >9 B @

6 7 > N B N ; @ ; : ; 48 8 C D G B8

P (X | e)v

➤

S B E 6 @ 48 B 74 <49 4 7 B :4 A H 7 > E : G 4 6 7 ; > 7 A ;8 : 7 ; N C : ; >9 � N C :8 B E 6 @ 48

? G ; D G A >9 > : E B : D G : G 4 4 W ; A 49 D 4 B 74 74 � 4 D : 4 Av

➤

F G 4 48 : ; E B :4 A A ;8 : 7 ; N C : ; >9

P̂(X | e) = αNPS(X, e) = NP S(X,e)
NP S(e)

v

➤

� ; : G8 C M D ; 49 : @ J E B9 J 8 B E 6 @ 48

P̂(X | e) ≈ P(X,e)
P (e) = P(X | e)v

➤

354 � 4 D : ; >9 8 B E 6 @ ;9 < :49 A8 : > 74 � 4 D : : > > E B9 J 8 B E 6 @ 48 v

³5´ �µ ¶ . 2© S C6 6 >8 4 : G B : > C : > H 1008 B E 6 @ 48 � 73 B 74 74 � 4 D :4 A B8

Sprinkler = falsev R C : > H : G 4 74 E B ;9 ;9 < 278 B E 6 @ 48 � 88 B : ;8 HJ

Rain = truev F G C8 P(Rain | sprinkler) ≈ α〈8, 19〉 = 〈0.296, 0.704〉v

�

©

� 	 	� yz � 
{ � � � 
� � � 
| } � 
 � ~ � � 
� � �� � � � �� �� �� 
 �� � � � � �

AB

��� � ��� �� 	 
 �� 
 �� � � 	 	� � 
 � �� � �� � � � �� �� � � �� �� � � �'

&

$

%

# � ¤ � � � � ¢ ¢ � � � � � �   �� �

➤

� ; K4 @ ; G > > A ? 4 ; < G : ;9 < ;8 8 ; E ; @ B 7 : > 74 � 4 D : ; >9 8 B E 6 @ ;9 <� N C : : G 4

W B @ C 48 > H 4 W ; A 49 D 4 W B 7 ; B N @ 48

E

B 74 K46 : � O 4 A ? G ; @ 4 8 B E 6 @ ;9 < > : G 4 78 v

➤

F G 4 rU F8 > H : G 4 I BJ 48 ; B9 9 4 :? > 7 K B 74 D >9 8 C @ :4 A : > : >8 4 4 G >?

@ ; K4 @ J : G 4 4 W 49 :

e

;8 v

➤

�9 : G ;8 ? BJ � : G 4 D >9 A ; : ; >9 B @6 7 > N B N ; @ ; :J P (e | x,y)

;8 ;9 :4 76 74 :4 A B8

B @ ; K4 @ ; G > > A ? 4 ; < G : H > 7 : G B :6 B 7 : ; D C @ B 7 7 C9 v

➤

Q 9 48 : ; E B :4 > H

P (X = x | e)

;8 > N : B ;9 4 A B8 B ? 4 ; < G :4 A6 7 >6 > 7 : ; >9

> H 7 C9 8 ? ; : G

X = x

B E >9 < : G 4 7 C9 8 B D D C E C @ B :4 A8 > H B 7v
➤

� ; K4 @ ; G > > A ? 4 ; < G : ;9 < D >9 W 4 7 <48 H B8 :4 7 : G B9 74 � 4 D : ; >9 8 B E 6 @ ;9 <v

➤

® 4 : : ;9 < B D D C 7 B :4 6 7 > N B N ; @ ; : ; 48 H > 7 C9 @ ; K4 @ J 4 W 49 :8 ;8 8 : ; @ @ B6 7 > N @ 4 E v

�

©

� 	 	� yz � 
{ � � � 
� � � 
| } � 
 � ~ � � 
� � �� � � � �� �� �� 
 �� � � � � �

AB

��� � ��� �� 	 
 �� 
 �� � � 	 	� � 
 � �� � �� � � � �� �� � � �� �� � � �'

&

$

%

³5´ �µ ¶ . 2© � 4 : C8 48 : ; E B :4

P(Rain | sprinkler ,wetgrass)

NJ @ ; K4 @ ; G > > A

? 4 ; < G : ;9 <v �9 ; : ; B @ @ J � : G 4 ? 4 ; < G : w ;8 8 4 : : > 1.0v

F G 4 W B @ C 48 > H W B 7 ; B N @ 48 B 74 D G >8 49 7 B9 A > E @ J B8 H > @ @ >? 8 X

sv P(Cloudy) = 〈0.5, 0.5〉 =⇒ cloudy

;8 7 B9 A > E @ J D G >8 49 v

°v Sprinkler

;8 B9 4 W ; A 49 D 4 W B 7 ; B N @ 4 : G B : G B8 N 4 49 8 4 : : >
true X

w

;8 74 W ;8 4 A : >

w × P (sprinkler | cloudy) = 0.1v

±v P(Rain | cloudy) = 〈0.8, 0.2〉 =⇒ rain
;8 7 B9 A >E @ J D G >8 49 v

twv WetGrass

;8 B9 4 W ; A 49 D 4 W B 7 ; B N @ 4 ? ; : G W B @ C 4 true X

w

;8 74 W ;8 4 A : >

w × P (wetgrass | sprinkler , rain) = 0.099v

☞

�4 G B W 4 D >E 6 @ 4 :4 A B 7 C9 8 BJ ;9 < : G B :

Rain = true < ; W 49

sprinkler

B9 A

wetgrass ? ; : G B @ ; K4 @ ; G > > A ? 4 ; < G : 0.099v
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➤

L B 7 @ J 4 O 6 4 7 :8 J 8 :4 E 8 ? 4 74 N B8 4 A >9 8 : 7 ; D : @ > < ; D B @ 74 B8 >9 ;9 <v

➤

U 7 > N B N ; @ ;8 : ; D :4 D G9 ;º C 48 ? 4 74 A > E ;9 B : ;9 < ;9 : G 4 8 4 D >9 A <49 4 7 B : ; >9 �N C : : G 48 4 :4 D G9 ;º C 48 8 C »4 74 A H 7 > E : G 4 4 O 6 >9 49 : ; B @ N @ >? 	 C6 > H : G 4

� > ;9 :6 7 > N B N ; @ ; :J A ;8 : 7 ; N C : ; >9 ? v 7v :v : G 4 9 C E N 4 7 > H W B 7 ; B N @ 48 v

➤

r >9 8 4 º C 49 : @ J � E B9 J B @ :4 79 B : ; W 48 : >6 7 > N B N ; @ ; : ; 48 ? 4 74 6 C 78 C 4 A X

sv ­ 4 H B C @ : 74 B8 >9 ;9 <

°v 3 C @ 48 ? ; : G D 4 7 : B ;9 :J H B D : > 78

±v ­ 4 E 6 8 :4 7 	 S G B H4 7 : G 4 > 7J

t v � C� � J @ > < ; D
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➤

354 B8 >9 ;9 < NJ A 4 H B C @ : E 4 B9 8 ;9 H4 7 7 ;9 <8 > E 4 : G ;9 < ;9 : G 4 B N8 49 D 4 > H

B9 J ;9 H > 7E B : ; >9 : > : G 4 D >9 : 7 B 7Jv

➤

U 7 > W ; A 48 B D >E 6 B D : ? BJ : > 49 D > A 4 4 O D46 : ; >9 8 : > <49 4 7 B @6 7 ;9 D ;6 @ 48 v

➤

Q º C B @ ; : B : ; W 4 B6 6 7 > B D G : > G B9 A @ 4 C9 D 4 7 : B ;9 :Jv

➤

­ 4 H B C @ : 74 B8 >9 ;9 < � ]j ba \e � : G 4 µ �0 � - �0 / � / -� 6 7 >6 4 7 :J > H D @ B8 8 ; D B @

@ > < ; D X ; H

Σ1 |= φ

B9 A

Σ1 ⊆ Σ2 � : G 49 Σ2 |= φv

➤

S 4 W 4 7 B @ H > 7E B @ ;�� B : ; >9 8 > H d j d� � j d j \j d ]_ Z e a � j d ] d f G B W 4 N 4 49

6 7 >6 >8 4 A X � 2 �� + . - . � �/ � � 3 4 ; :4 7� s �� � � � � / � � + µ � � � / ¶ -/ �0

� ¿ D r B 7 : G J � s �� � � � � + - � 2 ¶/ � - 2µ / � . � �/ � � ¿ > > 74 � s �� ± � � v v v

➤

� E 6 @ 4 E 49 : B : ; >9 : 4 D G9 ;º C 48 G B W 4 8 C N8 : B9 : ; B @ @ J ; E 6 7 > W 4 A A C 7 ;9 < � �8 v
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➤

� > < ; D6 7 > < 7 B E 8 ? ; : G d e f a \ ]j d a � �a ] b� Z e \j l Z j � e H 7 > E B9

; E 6 > 7 : B9 :8 C N D @ B8 8 > H9 >9 	 E >9 > : >9 ; D : G 4 > 7 ; 48 v

³5´ �µ ¶ . 2© � 4 : C8 A 48 D 7 ; N 4 : G 4 B6 6 @ ; D B N ; @ ; :J > H B D : ; >9 8 C8 ;9 < 7 C @ 48 X

{ doable(A)← preconds(A) ∧ � � �

exceptional(A)�

exceptional(A)← � � �

deterministic(A)�

exceptional(A)← delayed(A) }

➤

F G 4 8 4 E B9 : ; D8 > H ¸ � � �

φ

¹ ;8 A ; »4 749 : H 7 >E D @ B8 8 ; D B @9 4 < B : ; >9 ¬φv
➤

F G 4 D >9 D @ C8 ; >9 doable(run) D B9 N 4 A 7 B ? 9 NJ : G 4 7 C @ 48 B N > W 4

< ; W 49 : G 4 6 74 E ;8 48

preconds(run) B9 A

deterministic(run)v
➤

S C D G B D >9 D @ C8 ; >9 ;8 9 > @ >9 <4 76 >8 8 ; N @ 4 ; H

delayed(run)

;8

;9 : 7 > A C D 4 A B8 B9 B A A ; : ; >9 B @6 74 E ;8 4v

➤

­ 7 >6 6 ;9 < : G 4 6 74 E ;8 4

deterministic(A)

G B8 : G 4 8 B E 4 4 »4 D :v
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➤

354 B8 >9 ;9 <8 J 8 : 4 E 8 N B8 4 A >9 D @ B8 8 ; D B @ @ > < ; D G B W 4 ; E 6 > 7 : B9 :

6 7 >6 4 7 : ; 48 : G B : B 74 @ B D K4 A NJ : G 4 ; 76 7 > N B N ; @ ;8 : ; D D > C9 :4 76 B 7 :8 X

sv 	 � � � ./ -� X B 7 C @ 4 D B9 N 4 C8 4 A H > 7 E B K ;9 < ;9 H4 749 D48 ? ; : G > C :

? > 7 7J ;9 < B N > C : : G 4 > : G 4 7 7 C @ 48 ;9 : G 4 8 J 8 :4 E v

°v § 2 -� � �µ 20 - � ; H B8 49 : 49 D 4

φ

;8 6 7 > W 49 : > N 4 W B @ ; A � ; : D B9 N 4

A 4 : B D G 4 A H 7 > E ; :8 � C8 : ; � D B : ; >9 ¬6 7 > > H ¯ � B8 ; : C9 ; W 4 78 B @ @ J : 7 C 4v

±v 
� + - �
�

�+ 0 � -/ �0 � ./ -� � : G 4 : 7 C : G W B @ C 48 > H D >E 6 @ 4 O 8 49 : 49 D48

D B9 N 4 D > E 6 C :4 A H 7 > E : G 4 : 7 C : G W B @ C 48 > H : G 4 ; 7 D >E 6 >9 49 :8 v
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